AREFEL 3

Problem 1

WMRESA, B, CHE TR, REREFINA =B, 4HERERE.
a) AUC=BnC

b) ANC =BNC

c) AUC=BUC JH AnC=BnC

Problem 2

AT A MBI EES, KRN BEES.
a) P(z): % < 3

b) P(z): 2% > 1

) P(z): 20 +1=0

d) P(z):2*=2

Problem 3

R T IS R
a) {a,b,c}

b) {{1},0,1}

c) 0

d) {0}



Problem 4

TR S E R EARE (ppt lecd 1570, RATAT LA — 52 X EH R
T mERFeE T

)m+0=m, m+nt=(m+n)*
2)m-0=0, m-nt = (m-n)+m
18 L A R Al AG R B T S
a)l1+1=2

b) 2-3=6

Problem 5
BAFA TR TESE R/RRME TS, 45 HEH b .
a) (Ax B)N(C x D)= (ANC) x (BN D)

b) (Ax B)U(C x D) = (AUC) x (BUD)

Problem 6

FIWT AR LR R T RRBIRIE S WRZRE, P HBR TR
BRIRF L TS U R — il

2) {(a,b)[b = —3a + 4}
b) {(a,b)[b = (a+1)/(a+2)}
c) {(a,b)|b = —a®+ 2a + 4}

d) {(a,b)|b = 5a® + 3a* — 2a + 1}

Problem 7

W fRAFIBIIRU, g BEICIOXST, iEW(go f)™' = flog L



Problem 8

1t 0o BRRBHX TARHNME, BICAB = A - B.

L fFRAMNAZI BRI SABHIT4. iEHf~1(CsS) =Caf(9),
Problem 9

AR NES, BRAFMEERES : A - AWEY RSS!, HATATRES
HILNTLER?

Problem 10

WAHRHES : A — BHEHg : B— AffifSgo f =14, HouRAEKESE
BRI, TEW] SRS RREL g RS BRI



